Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - | « EXAMINATION - WINTER - 2016

Subject Code: 3326305 Date: 09- 01- 2017
Subject Name: Surveying and levelling
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €20l SlEUBRL Ulctotl scllol AU,
List the instruments used in Plane Table Survey.

WQol 2ol Ul oll Ultollo(l 21El vl

Define Datum Surface and Reduced Level.

3eu AU A 3syrs Adet YUl

Define surveying and leveling.

Adaul vl dAatel uHestal.

Define Plane Table Survey.

Qo WA Al AHstal.

Give uses of surveying.

A&l olt Guo0 AWl

Define F.B. and B.B.

WL ARDL el usal ARl AU AL

Define Line of collimation and Axis of telescope.

Aol A s SlcllAalet wal weflal wg 2clslu Amesal.
Give the list of instruments use in chain and tape survey.

AsN Wl U UL UL AuRlcl Anelle(l L€l cvl.

Find reduced bearing of the following whole circle bearing:
a) 105° b) 240°

(1Al Yulgd ARl ol gcule Aol Ui 3UidR $3.
) 105° o) 240°

10.  Explain contour.

0. UHLRAU U UHHAl.
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Q.2 (@) Differentiate between Plane Surveying and Geodetic Surveying.
YR (1) UHAA ATl ol ool ARl ARl cglelcl vl

OR
(@  Write classification of surveying.

@) el of aollswl 3.
(b)  Differentiate between Plan and Map.
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Wedlol el ot$l ARl cdAslald AUl
OR
Explain principles of surveying.
Udalol olt Rruldl AHestal.
Write temporary adjustment of prismatic compass.
BAwscllar suit of soul Axset AMesAl.

OR
Explain reciprocal ranging with sketch.

uel AUAuat ofl I sl us adlal

State types of obstacles in chaining. Explain any one method of overcome the
obstacles.

U0 oAl BARHIUAl HL Aledl AHAAN RUA. Aal Ascllell As

Al AHA

OR
The length of a survey line measured with a 20 m chain was found to be 610
m. If the chain was 3 cm too long, calculate the true length of the line.

20 Hl2R ol visn ad As ol datles Hiucl A 610 Hl2R HieH usl.
wWeon Al wok usl 3 Aisn 3 cm auR dioll ol A el =l
QAN

Write down errors in compass survey.
SUlRL udetgl 1 el R eseudl.

OR
Explain characteristics of contour.

AR Al cllat@ls il U A
Write difference between W.C.B. and R.B.
Yelgd ARaL WA gcule ARl dell dgleld Avl.

OR
Write short note on local attraction.

s ustel @A gsallu AVl

rite difference between Surveyor’s compass and Prismatic compass.
Write diffi bet S ’ dP t

Adatsoll swWA wal Auwsclal sw dAel dslad Al
OR

Explain different methods of chaining in sloping ground.
ataallufl esllet uR Asn ad vcdRHIUe{l ol Al UMl

The bearings of a closed traverse ABCDA are as under. Calculate included
angles and apply usual check.

Line Fore bearing Back bearing
AB 40° 220°

BC 70° 250°

CD 210° 30°

DA 280° 100°

GUHIARUL ABCDA oll ARoL oA A B. ol vl ol o1tdl
52 ol As LALA 53
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L wal ARt s QRat
AB 40° 220°
BC 70° 250°
CD 210° 30°
DA 280° 100°
OR

Enlist component parts of prismatic compass and state their functions.

RAuwscla suit olt aesloll A€l cAvll U €350 st Ul

List out components of Dumpy Level. Explain their functions.
sl Qact oll desloll el Al Wl £89] st ULl

OR
Explain reciprocal levelling with sketch.

daeaal ofl uAet Id 2usld us adldl
Explain types of leveling.
dAAlaL ol YstA AHLA.

OR
Explain temporary adjustment of Dumpy Level.

sl Qad of gourl ANt UMl

The following consecutive readings were taken with a dumpy level along a
chain line at a common interval of 30 m. The first reading was taken on a
B.M., where the RL is 560.25 m. The instrument was shifted before 0.485
and 0.675 readings. Calculate RLs of all the points by Height of Instrument
method.

0.355(on B.M.), 0.730,1.055, 2.690, 3.950, 0.485, 1.020, 1.895, 2.535, 3.885,
0.675, 1.715, 2.985, 3.600 (on station A)

o{lAetl ciuaiisl wHlot UR €£5a BAled A usslal UisnRwL U 30Ml
AUARA UR dlAcl 8. yar didslis Ao 1S UR dlAd & Bl R.L.
560.25 Hl &cll. BogNo2 0.485 ol 0.675 Ml ciUstis UL @Qse s
B, olul W82 oll R.L. Height of Instrument ofl Il sl 3.
0.355 (B.M. UR), 0.730,1.055, 2.690, 3.950, 0.485, 1.020, 1.895, 2.535,
3.885, 0.675, 1.715, 2.985, 3.600 (R22lel A UR)

Enlist the instruments used in plane tabling and give their uses.

WQot 201t Al ol Alttollo(l €L AUl Aal Aol BUAN wRUA.
Give advantages and disadvantages of plane table survey.

ol WA ARl oll SLAEL Wal R FLAEL QUL

Write methods of plane tabling and explain any one in detail.

WQol 2ol Ul scllo(l Il Ul wa N A As A AHLAl.
What is orientation? Explain any one method.

A A2t W@ 9?00 A As I UMl
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